Name: ______________________

Section: _____________________

EE331 Homework PS3 – fall 2012

Problems from Alexander & Sadiku: 
CH3

· 3.6 – Ans:  V0 = -2V

· 3.13

· 3.17

· 3.32 – Do not think too hard!
CH4
· 4.38 – Ans:  VTh = 19.2V, RTh = 5, Vo = 12.8V
· 4.66 – Ans:  Pmax = 625 mW
Additional Problems (Instructor Option): 

· 2nd page of this assignment

· 4.86 (Hint:  consider the blackbox a Thevenin Eq. Circuit, solve for Rth and Vth) – ans – i = 1.2857 A, Pmax = 8.1 W
· Any as assigned by instructor

Determine Rth and Vth at terminals 1 and 2.
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